
 

 

  

9 - 1 8 - 6 7 - 6 10 - 2 2 - 1 8 - 3 

 
 

10 - 5 6 - 3 8 - 1 7 - 3 9 - 3 10 - 7 

  

7 - 7 10 - 1 4 - 2 8 - 5 8 - 2 9 - 6 

  

8 - 4 7 - 2 9 - 2 10 - 9 5 - 3 10 - 6 

  

10 - 8 7 - 5 10 - 4 8 - 7 9 - 4 7 - 4 

  

9 - 7 10 - 3 6 - 2 9 - 5 10 - 0 8 - 0 

 

www.snappymaths.com 

This grid can be used with one child, rolling a dice and practising. Alternatively, it can be played as a multi-player game. To begin with, player A 

rolls a dice, finds the matching row and solves the first box. The next player then takes a turn. If the box has already been solved, they move to 

the next box along. The winner is the first player to solve the end box in a row. 

Subtraction Within 10 0 1 2 3 4 5 6 7 8 9 10 

 


